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ﬁeva 1) \

def dump(expression) :
result = eval(expression)
print(expression, "=>", result, type(result))

e

======= RESTART: E: /1 _Works/2017Waork /Kl
dump(*1 |77 L

wq An 1 == 1 =class int =

j”mp(..j'to.) 1.0 => 1.0 <class 'float'>
ump(”string™) 'string' == string <class 'str's
dump("1.0 + 2.0%) 1.0+ 2.0=>3.0 <class 'float'=
dump("‘*'* 10") "' w0 = kxxaxxxxxxx <o |gss 'str's
dump("len('world")") Ienl[l'world'} == 5 <class 'int'=>

e

i




B = String

/import string

text = "All that | need you"
print("capword", "=
", "=>", text.upper())

', text.lower())
>" text.split(" ")

print("upper",
print("lower", "=
print("split", "=
print(" replace
print("find", "=>", text.find("AII"))

print("count”, "=>", text.count("e"))

\_

", string.capwords(text))

", text.replace("you", "him"))

RESTART: E:/1_Works/2017Work/KMooCZ <]

capword == All That | MNeed You
Upper == ALL THAT | WEED Y0OU
lower == all that i need vou

split == ["All', '"that', "I, 'need', 'vou']
replace == All that | need him

find == 0

count == 2

g
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mput_str = input("30= A0 SO=& | ")
alpha =0
upper = 0
lower = 0

for letter in input_str:
alpha = alpha + letter.isalpha()
upper = upper + letterisupper()
lower = lower + letter.islower()

print("Y Lt Ji==: " alpha, *, CHE AL 75 ", upper, *, 2= AL 7= ", lower)

/

otutel JH==0 32, CHEAF 2=

e
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======= RESTART: E:/1 Works/2017Work/KMooCZr<| /Exercise Code/63R}

302 A0 AW EERD 212 As we have already used the term module



math Module(1)

http://docs.python.org/3/library/math.html

Methods with Description

= -

math.ceil(x) (N >=x)E TE5t= 71 | math.fsum(iterable) 2 Al
2 Y= NS et

math.copysign(x, v) math.isfinite(x) 22 4% &

yo| 220k x0f| SALSHA] Ehet

math.fabs(x) = CH &k math.isinf(x) ot 4% &
math.factorial(x) math.fmod(x, y) & Z=2| mod gt
math.floor(x) (N<=x)& ZtE5H= 7t | math.modf(x) & HES v &4 A

A (@)
jél'—iljg—rNEHJ

)

[1ot


http://docs.python.org/3/library/math.html

math Module(2)

http://docs.python.org/3/library/math.html

.5, 284S

Methods with Description

math.exp(x) math.log2(x)

Return the base-2 logarithm of x

math.log(x[, base]) math.log10(x)

Return the base-10 logarithm of x

math.pow(x, y) math.sqgrt(x)



http://docs.python.org/3/library/math.html

math Module(3)

http://docs.python.org/3/library/math.html

. ATV, 2E e

Methods with Description

math.asin(x) math.sin(x)
math.atan(x) math.tan(x)
math.atan2(y, x) math.cos(x)

math.degrees(x) math.radians(x)



http://docs.python.org/3/library/math.html

math Module(4)

http://docs.python.org/3/library/math.html

e Hyperbolic functions("¥ =/ 2r=) 1} constants

Methods with Description

math.acosh(x) math.sinh(x)
math.asinh(x) math.tanh(x)
math.atanh(x) math.pi

constantmt = 3.141592...

math.cosh(x) math.e
constant e =2.718281...


http://docs.python.org/3/library/math.html

math Module Of| H|

ﬂ> > import math \

>>> math.fmod(5.0, 2.0) # Ao LIHX| &AL
1.0

>>> math.factorial(5) # d9| factorial
120

>>> math.log(100,10) # logdf

2.0

>>> math.pow(2,3)

8.0

>>> math.sqrt(16)

4.0

>>> math.e # XU E1 gk
2.718281828459045

o /




cmath module

e Math module S st 7| s SAT M2 X| &
. kbx
[ [ Tl

* https://docs.python.org/3/library/cmath.html#module-
cmath



https://docs.python.org/3/library/cmath.html#module-cmath

« Math moduleS 25} 04
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decd 3L, A2 NI

4

/import math \

def roots_formula(a, b, ¢):

d = b**2 - 4*a*c

ifd > 0:
root1 = (-b + math.sqgrt(d))/ (2*a)
root2 = (-b - math.sqrt(d))/ (2*a)
return root1, root2

elifd == 0:
root1 = (-b / (2*a))
return root1

else: #o] 2 G2 falseE X 2|
return False

H=
i
e
1z
ax
=

r = roots_formula(1,5,4) ======= RESTART:

print(r) || ======
k (-1 .lr::u -4.0)




import math, cmath
======= RESTART: E:/1 _Works/2017Work/KMooCZr2l /Exerci
def deter(a, b, ¢) : ===

return math.pow(b, 2) - 4%a*c [(-1.541.66831230517771), (-1.5-1.6583123001777) ]

FE |

def roots_formula(a, b, c):

if deter(a,b,c) >= O:
root01 = (-b + math.sqgrt(deter(a,b,c)))/ (2*a)
root02 = (-b - math.sqgrt(deter(a,b,c)))/ (2*a)

else:
root01_real = -b/(2*a)
root01_imag = (math.sqrt(math.fabs(deter(a,b,c))))/ (2*a)
root02_real = -b/(2*a)
root02_imag = (math.sgrt(math.fabs(deter(a,b,c))))/ (2*a)
root01 = root01_real + root01_imag * 1j
root02 = root02_real - root02_imag * 1j

return [root01, root02]

wnt(roots_formulaﬂ 3,9)) /




AS =X 3

 Math module= &-&795}04
o ANFEXY| A 2 (degree)E &1 EY
» UH 242 radian W22 HiEE
L ChEo| MZfet gt £ S
* sin(), cos(), tan()



HEEM3iE

ﬁnport math \

angle = float(input("Z =[degree]: "))
rad = math.radians(angle) # radian W22 HiH 7|

result_sin = math.sin(rad)
result_cos = math.cos(rad)
result_tan = math.tan(rad)

print("degree:", angle, ", radian:", rad)
print("sin:", result_sin, ", cos:", result_cos, ", tan:", result_tan)

J

======= RESTART: E:/1_Works/2017Work/KMooCZf<| /Exercise Code/85:R}_2

ZFE [degree]: Q0
degree:. 90.0 , radian: 1.5707963267945966
sin: 1.0, cos: 6.123233995736766e-17 , tan: 1.6331239353149537e+16

e e




Datetime module(1)

https://docs.python.org/3/library/datetime.html|?highlight=datetime#module-datetime

2Nt A ZHER 7SS HS

class datetime.date
e Gregorian calendar 7|
* Year, month, day

e class datetime.time
 Hour, minute, second, microsecond

class datetime.datetime
e Class date, time= Xl 2


https://docs.python.org/3/library/datetime.html?highlight=datetime#module-datetime

Of| ®|, date object

2RS =o{4, @ 72| O010| L A 7t 7S SFC}

ﬁnport time \

from datetime import date

today = date.today()

print(today)
Bday = date(today.year+1, 2, 24)
print(Bday)
due = abs(Bday - today) el
\print(due) ======== RESTART: E:/1_Works/2017Work/
2017-06-30
2016-02-24

2349 days, 0:00:00

= |




Of| ®|, datetime object

.combine
.now
.utcnow, &8 M| A| Al (Coordinated Universal Time, UTC)

& )

d=date(1990, 7,5)
t=time(12,30)

rom datetime import date, time, datetime

print(datetime.combine(d, t)) ~======= RESTART: E:/1_Horks/2017]
print(datetime.now()) 1990-07-05 12:30:00
print(datetime.utcnow()) 2017-06-30 19:02:00.045292

\ 2017-06-30 10:02:00.059293

e I
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AS=X 4

dl

-

ﬁrom datetime import date \

birthday = input(" €= YEHSIM L [ex)3F15% =3 15]:")
birthday = birthday.split()

today = date.today()

birthday = date(today.year, int(birthday[0]), int(birthday[1]))

due = birthday - today

if due.days < O:
next_birthday = date(today.year + 1, birthday.month, birthday.day)
due = next_birthday — today

print("S LK H2 ER=: ", due.days)

=
K ======== RESTART: E:/1 _Works/201 7Work/KMooCZr<|

Hale T.;'E:'éwlﬂ [ex)3E152 =3 15] @ 5 25
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